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That he acquires the collateral — own TP

OVERVIEW

The X3 here cites the ruling of prx> "1 that a mon acquires the Now» which the M
gives him for collateral. There is a dispute between "1 and MdOIN as to the extent
of this 71p.

= IPOIN 210 PIYY P 1D Lovnpn vivs
“""w explained that the 1"y acquires the 32w in regards that the m>n» is liable
even for an unavoidable accidental mishap —

mooin disagrees with >"wA:
= 99V 9IY NION M1 NDT ¥IYN (x,30 xwwn xa3) PIDINNDLT 90IN PNYY 1392

And the "1 says that in 71287 P79 it seems that the M%7 is only a @' for the
12wn and is liable for 777°2X1 7712°13 only, but not for 1011X; for in regards to the miwn there® which

states -
- 4‘,7!'\8’ 295 NY 9207 X202 DN 92939 S¥A 95V MV PIVNN DY 1M1

That if he lent him money for a 2w the Mm% is considered a w"w, the X923
wanted to say there that the Xin of the 71wn agrees with 3''1 that 1own mnp n"ya.”

mooIn concludes:
- 75‘\1"11'\N DRI DY DAD NOW 29X INIY? 193 9993 YW 18NN 6Nmm\o n1999)

And the entire discussion, regarding the y»n of a 721 in the possession of a

YR, is in a case where the Y872> did not accept upon himself responsibility

for the 1own (in case it was lost or stolen) -
23,097 9N)2‘,7 7992 NN 51953 9299 19w NI 99 bap 'NY

Vanp A,
% If the mn cannot return the 119wn to the M for whatever reason even if it was an o1, the mbn is liable to pay to
the m> the value of the 119wn (and if it exceeds the amount of the loan the 7% must pay the excess amount to the m?
[see however nnX now here]).
330"
* See (also) previous *2772 7"'7 '01n that the Xnx reconciled the mawn (which states w"w 1owni 5y Mon) and the Xn*12
(which states 01 mw) that the mawn accepts the ruling of *"9; indicating that (even) according to "3, the m°n is
(merely) a w"w who is 2717 for 8" only but not for PO1X.
5 According to *"w1 however the 71wn should have said 11owni 5¥ m7nn is a PR since he is PonRa 271 like a PR
% See the (71%77) X"wAn for an explanation what n1901n means.
7 See “Thinking it over’.
¥ Even if we maintain 19w» 719 X2 ™1231 95X, nevertheless since the 81w accepted M™nX he is 721,
’ The xm3 there states regarding the y»n of a »131 which was deposited by a 5% that if the 8w was DI 92pn
he is 721 on °"21°"3, and if he was not N1NXR 92apn, he is not 72w,
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For if the Y% accepted responsibility for the 1own, the 11own is considered
belonging to the 987w and he transgresses on >"21>"a for this 110w, as is evident
in the first pap.

SUMMARY
According to *"w1 a (7RY?7 nywa KOW) Nownn 2¥ mMon is liable even for 1o, and
according to Moo he is only 2°°171 for X", but not for 01K.

THINKING IT OVER

nooIn concludes that our X°310 is in a case where the X was not N1°R 92pn for
the ™21 5w 1x11.'" The Xn3 explained that the p"'n maintains that 73p X2 *71311 Y8
10wn; therefore the "X is not ~aw. ! However, if we are discussing a case where
the YXw> was not N1INR 73pn, even if we assume that 11owW»n 717 57210 YRS,
nevertheless the X cannot have a 1°7 of a 72w MW, since the assets of a 121 are
excluded from 77w 2vn. The o°non therefore maintain that the %W is not 721w
since he is not X132 21! Why is it necessary to assume that the P"n maintains
TOWn [P R ™01 LR

10 See footnote # 7.
"If we maintain Nown 1P, the 7191 becomes N1R2 237 for he is a "W, and therefore he is 12w, However if he is
not (°1211) 1DWA 71IP, he is not a w"w, and therefore since there is no N»NX, he is not 72w on *"2.
12 See HxMW 727 and X"0 X"AN "0 1IN VW [see TIE previous *2772 71"7 '01n footnote # 10].
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